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Unit 3 - Week 2

Course outline

Assignment 2

The due date for submitting this assignment has passed. Due on 2019-09-11, 23:59 IST.
As per our records you have not submitted this assignment.

How to access the portal?

Week 1
Week 2 1) The book Ultimate Resource argues that population growth isnot ... : 1 paint
Population Dynamics 2 Desirable
Undesirable
Population Pollcies There is no link between population and development
Population Policy in India None of the above

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
There is no link between population and developmeant

Population and Family Welfare
-1

Population and Family Welfare
-2

2] Till 1979 China practiced ... : 1 point
Quiz : Assignment 2

_ _ Traditional agriculture
Assignment 2 Solution o )
Capitalist agriculture

Feedback for Week 2 Collective agriculture
None of the above
Week 3
Mo, the answer is incorrect.
Score: 0
Week 4

Accepted Answers:

Collective agriculture
Live Session

J] In the developed countries the major subjects of population policy isiare) ... : 1 point

Below replacement fertility and immigration
A younger age structure

Imbalanced sex ratio

Two of the above

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Two of the above

4) There are several barriers to implementation of population policy in India, such as...: 1 point

Geographical and climatic factors
Lack of a family planning policy
lliteracy and traditional thinking
All of the above

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
iliteracy and traditional thinking

5) MNegative externalities in population policy refer to: 1 point

Micro-macro conflicts in interests
Functions and dysfunctions of poverty
Extreme social inequality

None of the above

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Micro-macro conflicts in interests

6) India's position in ICPD 1974 in Bucharest was that ...: 1 point

Population is not the cause of underdevelopment

Without socialist transformation development is unthinkable
To solve population problem is to strengthen market forces
Development is the best contraceptive

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Development is the best contraceptive

7] In India one of the major causes of high fertility is ... : 1 point

Disutility of children

Genetic fertility

Preference for female babies
None of the above

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
None of the above

8) One of the biggest weaknesses of the Clinical Approach in family planning programme in India was ... : 1 point

shortage of money

shortage of courage

Religious bias

Gender bias in the programme

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Gender bias in the programme

) Janani Suraksha Yojna was started in ... : 1 point
1901
1947
2005
2018
Mo, the answer is incorrect.
acore: 0
Accepted Answers:
2005
10) The highest rate of growth of India’s population was observed during... : 1 point
19071-21
1931-51
1961-81
1981-2001

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
1967-81



